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1. Vasco da Gamma firstly landed at Calicut in the Year

A) 1453  B) 1498 C) 1503 d) 1524

2. By which treaty the power of malabar transferred from Sultan of mysore to the 
British ?

A) Treaty of Hyderabad   B) Treaty of madras

C) Treaty of Sreerangapattanam d) Treaty of mangalore

3. ‘Atmopadesa Sathakam’ written by which social reformer of Kerala ?

A) Chattambi Swamikal B) Sahodaran Ayyappan 

C) Vagbhadanandan  d) Sree Narayana Guru

4. Who is known as Kerala Gandhi ?

A) K. Kelappan   B) K. P. Kesava menon 

C) Vakkom maulavi   d) K. madhavan

5. “If there be paradise on earth, it is this, it is this, it is this’’ – words of mughal emperor 
Shah Jahan engraved in the walls of which Palace ?

A) diwan-i-khas, delhi   B) Red Fort, delhi 

C) Taj mahal   d) moti masjid, Agra

6.  The social reformer who founded Ramakrishna mission.

A) dayananda Saraswathi  B) Vivekananda 

C) Annie Besant   d) m. G. Ranade

7. The Nationalist who propounded ‘drain theory’ against British economic exploitation 
of India.

A) Pheroz Shah mehta   B) Badaruddin Tyabji

C) Gopala Krishna Ghokale d) dadabai Naoroji

8. ‘The Fall of Bastille’ is associated with which Revolution ?

A) French Revolution    B) Russian Revolution 

C) English Revolution    d) American War of Independence

9. Who worked as the Chairman of the State Reorganisation Commission of 1953 ?

A) K. m. Panikkar   B) H. N. Kunzru 

C) Fazal Ali   d)  G. B. Pant

10. The ‘Kargil War’ of 1999 between India and Pakistan is also called as 

A) Operation Vijay   B) Operation Parakram

C) Operation desert Fox   d) Operation Blue Star



 047/23 – M

a -3- 

1. vLyVSWLc YLo Bh|oLp] SWLu]S¨LRŸ¾]p v¡xU.
A) 1453  B) 1498 C) 1503 d) 1524

2. JfV	DaÒa]p]sPRapLeV	osmLr]R£	Ai]WLqU	RRoyP¡	yO¤¾Lj]¤	j]ÐV	 
Nm]Ÿ}xOWL¡¨V RRWoLr]pfV ?
A) RRzhqLmLhV DaÒa]  B) oNhLyV DaÒa] 
C) è}qUYkŸeU DaÒa]  d) oUYsLkOqU DaÒa]

3. SWqt¾]Rs JfV yLoPz]W kq]ë¡¾LvLeV  ‘BSÄLkShw wfWU’ IuOf]pfV ?
A) \ŸÒ] y~Lo]W¥  B) ySzLhq¢ AáÕ¢ 
C) vLYVnaLjÎ¢  d) è}jLqLpe	YOqO

4. SWqt	YLÌ]	IÐr]pRÕaOÐfV	BqLeV	?
A) RW. SWtÕ¢  B) RW.	k].	SWwv	SoSjL¢ 
C) v¨U oTsv]  d) RW. oLiv¢

5. “nPo]p]¤	y~¡YoORºË]¤, CfLeV,	CfLeV,	CfLeV	’’ – oOY¥ \NWv¡¾] xL^zLR£ 
CT	vL¨OW¥	JfV	RWLŸLq¾]R£	\OvqOWt]¤	RWL¾]v\ÿ]ŸOºV ?
A) h]vL¢&C&XLyV,	c¤z] B) R\SËLŸ,	c¤z] 
C) fL^Voz¤   d) SoLŸ]	oyV^]hV,	BNY

6.  JfV	yLoPz|	kq]xVW¡¾LvLeV	qLoWQxVe	o]x¢	òLk]\ÿfV	? 
A) hpLjÎ	yqy~f]	 	 	 B) v]SvWLjÎ¢ 
C) Bj]	my£V  d) IU.	^].	rLjRc

7. CÍ|p]Rs	 Nm]Ÿ}xV	yLÒ¾]W	\Pxe¾]Rjf]Rq	"RNcp]¢	y]ÈLÍU'	Avfq]Õ]\ÿ	
Shw}p vLh].
A) l]SrLyV xL So¾  B) mhrOÇ}¢ f|LmV^]
C) SYLkLsWQxVe	SYLXRs d) hLhL	mLpV	jvSrL^]

8. ‘mLð]s]R£	kfjU’ JfV	v]kævvOoLp]	mÌRÕŸ]q]¨OÐO	?
A) NlµV v]kævU   B) rx|¢ v]kævU 
C) CUYæ}xV	v]kævU   d) ASoq]¨¢	y~LfNÍ|	yoqU

9. 1953-Rs	yUòLj	kOj@yUZajL	WÚ}xR£	R\p¡oLjLp]	Nkv¡¾]\ÿfV	BqV	?
A) RW. IU. ke]¨¡  B) I\ÿV.	I¢.	WO¢NyO 
C) ly¤	As]   d)  ̂ ].	m].	kÍV

10. 1999-Rs	"WL¡Y]¤	pOÈU'	CÍ|àOU	kL¨]òLjOU Cap]¤	__________ IÐOU	 
Ar]pRÕaOÐO.
A) KLÕSrx¢ v]^pV  B) KLÕSrx¢ kqLNWU
C) KLÕSrx¢ RcSy¡ŸV SlLWVyVV d) KLÕSrx¢ mæP ðL¡
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11. Consider the below statement regarding the monsoonal rainfall in Kerala.

1) Kerala is named as “Gateway of monsoon” in India.  

2) Palakkad Gap influences the spatial pattern distribution of rainfall.

3) Thulavarsham is the principal rainy season in Kerala.

Which of the statement given is/are correct ? 

A) 1 and 2 only B) 2 and 3 only  C) 1, 2 and 3 d) None 

12. Consider the following passes in the Western Ghats in Kerala.

1) Thamarassery pass  

2) Achankovil pass

3) Kambam pass

4) Arampadi pass

Which of the following is the correct order of their location from north to south ? 

A) 1-2-3-4 B) 1-3-2-4  C) 1-2-4-3 d) 1-4-2-3

13. Which of the statement given below is not true regarding the characteristics of 
tropical cyclones ?

A) Originate both in land and ocean in the tropical regions.   

B) low-pressure centre with high wind velocity. 

C) Not all depressions are turned into cyclones.   

d) Cumulonimbus cloud surrounds the core of the cyclone.

14. Which of the soil commonly found in the humid areas where having high temperature 
and heavy rainfall with alternate wet and dry periods ?

A) Alluvial soil B) Black soil C) Red Soil d) laterite soil

15. Which of the following region is known as the Big Game Country ?

A) African Savannah   B) Amazon rain forest

C) Arctic Siberia   d) downs in Australia

16. In the Budget of 2022-23, which of the following is a transformative approach for 
economic growth and sustainable development which is driven by seven engines 
namely, Roads, Railways, Airports, Ports, mass Transport, Waterways and logistic  
infrastructure ?

A) P.m. GatiShakti   B) P.m. Gatimman

C) P.m. Garib Kalyan   d) P.m. Kisan Samman
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11. SWqt¾]Rs	o¦yP¦	ouRp¨Or]\ÿOç	fLRupOç	NkñLvjW¥	kq]Ye]¨OW.

1) CÍ|p]Rs	“o¦yPe]R£ WvLaU” IÐLeV	SWqt¾]R£	SkqV.  

2) kLs¨LaV	v]avV,	oupORa	Sy×x|¤	kLSã¦	v]fqeR¾	y~Li}j]¨OÐO.

3) fOsLv¡xU	SWqt¾]Rs	NkiLj	ou¨LsoLeV.

  j¤W]p]q]¨OÐ	NkñLvjWt]¤	JfLeV	wq]	?   

A) 1 DU 2 DU oLNfU B) 2 DU 3 DU oLNfU  C) 1 DU 2 DU 3 DU d) KÐOo]sæ 

12. SWqt¾]Rs	ké]o	ZŸ¾]Rs	fLRu	krpOÐ	\Oq°¥	kq]Ye]¨OW.
1) fLoqSêq] \OqU  
2) A\ÿ¢SWLv]¤	\OqU
3) WÒU \OqU
4) BrÒLa] \OqU

  va V̈	j]ÐV	Rf V̈	vRqpOç	AvpORa	òLj¾]R£	wq]pLp	NWoU	Cj]ÕrpOÐvp]¤	
JfLeV ?  

A) 1-2-3-4 B) 1-3-2-4  C) 1-2-4-3 d) 1-4-2-3

13. DxVeSoXsL	\Ous]¨LãOWtORa	y~nLvyv]SwxfW¥	yUmÌ]\ÿV	fLRu	j¤W]p]
q]¨OÐ	NkñLvjWt]¤	JfLeV	wq]psæL¾fV	?

A) DxVeSoXsL	NkShw°t]¤	Wqp]sOU	yoONh¾]sOU	DÂv]¨OÐO.   

B) Dp¡Ð	WLã]R£	SvYfpOç	fLuVÐ	o¡Ç	SWNÎU. 

C) IsæL	c]NkxjOWtOU	\Ous]¨LãOWtLp]	oLrOÐ]sæ.   

d) W|OoOSsLj]UmyV	SoZU	\Ous]¨Lã]R£	SWNÎR¾	vspU	R\áOÐO.

14. Dp¡Ð	fLkj]spOU	Wj¾	oupOU	KÐ]av]Ÿ	jjvOçfOU	vqºfOoLp	WLs°tOç	
CT¡ÕoOç	NkShw°t]¤	yLiLqepLp]	WLeRÕaOÐ	o¹V	JfLeV	?

A) AsOv]p¤	o¹V B) WrO¾	o¹V C) \OvÐ	o¹V d) sLãRrãV	o¹V

15. fLRuÕrpOÐvp]¤	JfV	SoXspLeV	"m]YV	RYp]U	W¦Na]'	IÐr]pRÕaOÐfV	?

A) BNl]¨¢	yvÐ  B) BoSyL¦ ou¨LaOW¥

C) B¡Ÿ]WV RRym}q]p  d) KLyVSNas]pp]Rs fLuV\W¥

16. 2022-23-Rs m^ã]¤	SrLcOW¥,	Rrp]¤Sv,	v]oLjfLvt°¥,	fOroOX°¥,	mzO^j	

YfLYfU,	^skLfW¥,	SsL^]ð]WV	C¢NlLyVNaWV\¡	IÐ]°Rj	JuV	Iµ]jOWtL¤	

jp]¨RÕaOÐ	yLÒ¾]W	vt¡\ÿàOU	yOò]q		v]Wyj¾]jOU	Svº]pOç	kq]v¡¾j	

yo}kjU	JfLeV	? 

A) k].IU. Yf]w©]  B) k].IU. Yf]oL¢

C) k].IU. Yq}mV Ws|L¦  d) k].IU.	W]yL¢	yÚL¢
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17. Which of the following is growth achieved by the Indian Economy in the Eleventh 
Plan period ?
A) An average of 6.7 Percent B) An average of 9.5 Percent 
C) An average of 7.9 Percent d) An average of 9.0 Percent

18. Which of the following functions are correct about RBI ?
i) maintaining price stability while keeping in mind the objective of growth.
ii) Maintain public confidence in the system, protect depositors interest and provide 

cost-effective banking services to the public. 
iii) To facilitate external trade and payment and promote orderly development and 

maintenance of foreign exchange market in India.
A) Only (i & ii)   B) Only (ii & iii)
C) Only (i & iii)   d) All of the above (i, ii, iii)

19. The Inter-ministerial Coordination Committee on the multidimensional Poverty Index 
constituted under NITI Aayog. Which of the following ministries and departments 
are included in the committee ?
A) ministry of Agriculture and Farmers Welfare and department of Fertilizers
B) ministry of Commerce and Industry and department of Telecommunications
C) ministry of External Affairs and department of Public Enterprises
d) ministry of Women and Child development and department of Food and 

Public distribution

20. The Nobel Prize for Economics 2022 was awarded to 3 American Economists for 
their research on
A) For their methodological contributions to the analysis of causal relationships
B) For research on banks and financial crises
C) For improvements to auction theory and inventions of new auction formats
d) For their experimental approach to alleviating global Poverty

21. Which of the following statements are correct about Weber’s Ideal type of Bureaucracy ?  
i) division of labour.
ii) Extensive Paperwork.
iii) Well-defined authority of the hierarchy.
iv) Impersonal nature.
A) Only (ii & iii)   B) All the above 
C) Only (i, iii, iv)   d) Only (ii, iii & iv)

22.  CEdAW is associated with
A) Children   B) Women
C) disabled persons   d) Asylum seekers
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17. kf]RjLÐLU kÈf]	WLsZŸ¾]¤	CÍ|¢	yÒhVv|vò	RRWvq]\ÿ	vt¡\ÿ	
fLRuÕrpOÐvp]¤	JfLeV	?

A) wqLwq] 6.7 wfoLjU	 	 B) wqLwq] 9.5 wfoLjU

C) wqLwq] 7.9 wfoLjU   d) wqLwq] 9.0 wfoLjU

18. fLRuÕrpOÐvp]¤	JfLeV	RBI Rp	yUmÌ]\ÿV	wq]pLpfV	?
i) vt¡\ÿpORa	sƒ|U	ojô]¤	v\ÿORWLºV	v]s	ò]qf	j]sj]¡¾OW.
ii) y]ð¾]¤	RkLfO^j°tORa	v]w~LyU	j]sj]¡¾OW,	j]SƒkWqORa	fL¤Õq|U	 	
yUqƒ]¨OW,	RkLfO^j°¥¨V	o]W\ÿ	mLË]UYV		Syvj°¥	j¤WOW. 

iii) v]Shwv|LkqvOU	SkpVRo£OU	yOYooL¨OÐf]jOU	CÍ|p]Rs	v]Shw	v]j]op	 
v]ke]pORa	\]ŸpLp	v]WyjvOU	kq]kLsjvOU	SNkLÃLz]Õ]¨OÐf]jOU.

A) (i, ii) oLNfU  B) (ii, iii) oLNfU

C) (i, iii) oLNfU   d) oOWt]¤	kr´vRpsæLU	(i, ii, iii)

19. j}f]	BSpLY]R£	W}u]¤	qPk}Wq]\ÿ	mzOoOX	hLq]Nh|	yP\]Wp]Rs	AÍ¡&oNÍLsp	
JSWLkj	yo]f]p]¤	fLRuÕrpOÐvp]¤	JRfLR¨	oNÍLsp°tOU	vWOÕOWtOU	
WÚ]ã]p]¤	D¥RÕaOÐO	?

A) WQx]	oNÍLspvOU	W¡xW	SƒovOU	qLyvt	vWOÕOU

B) vLe]^|v|vyLp	oNÍLspvOU	Ras]WÚ|Pe]S¨x¢yV	vWOÕOU

C) v]ShwWLq|	oNÍLspvOU	kmæ]WV	I£¡RRNkyyV	vWOÕOU

d) vj]fL	w]wOv]Wyj	oNÍLspvOU	nƒ|	RkLfOv]fqe	vWOÕOU

20. 2022-Rs	yLÒ¾]WwLNñ¾]jOç	SjLm¤	yÚLjU	3 ASoq]¨¢ yLÒ¾]W  
v]hYVi¡¨V	AvqORa	JfV	YSvxe¾]jV	sn]\ÿO	?
A) WLq|WLqe	mÌ°tORa	v]wWsj¾]¤	AvqORa	q}f]wLNñkqoLp		
yUnLvjW¥¨Lp]

B) mLËOWRtpOU	yLÒ¾]W	Nkf]yÌ]WRtpOU	WOr]\ÿOç	YSvxe¾]jV
C) Sss	y]ÈLÍU	Ro\ÿRÕaO¾OÐf]jOU	kOf]p	Sss	SlL¡oLãOWtORa		
WºOk]aO¾°¥¨OU

d) BSYLt hLq]Nh|U	sZPWq]¨OÐf]jOç	AvqORa	kq}ƒeLÄW	yo}kj¾]jV

21. Rvmr]R£	RIc]p¤	fqU	m|PSrLNWy]Rp¨Or]\ÿV	fLRuÕrpOÐ	NkñLvjWt]¤		
JfLeV wq] ?  

i) RfLu]¤	v]n^jU.
ii) v]kOsoLp SkÕ¡ v¡¨V.
iii) Sèe]pORa	jÐLp]	j]¡v\]\ÿ]q]¨OÐ	Ai]WLqU.
iv) v|©]f~o]sæL¾ y~nLvU.
A) (ii, iii) oLNfU   B) oOWt]¤	kr´vRpsæLU  
C) (i, iii, iv) oLNfU  d) (ii, iii, iv) oLNfU

22.  CEdAW __________ oLp]	mÌRÕŸ]q]¨OÐO.
A) WOŸ]W¥   B) Nñ}W¥
C) v]WsLUY¡  d) AnpU	SfaOÐv¡
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23. In which year RTI Act came into force ? 
A) 2000 B) 2004 C) 2006 d) 2005

24. Who is the author of the book “Human Rights and Inhuman Wrongs” ?
A) Upendra Baxi   B) Anju Soni
C) V. R. Krishna Iyer   d) Prof. R. P. Remanan

25. Who preceded Rishi Sunak as Prime minister of UK ?
A) liz Truss   B) Boris Johnson 
C) dominic Raab   d) Suella Braverman

26. What was the total strength of the Constituent Assembly in 1946 ?
A) 389 B) 292 C) 289 d) 299

27. Which among is the correct chronological order of the cases of Fundamental Rights 
and directive Principles ?

i) Golak Nath vs State of Punjab
ii) Keshvanand Bharati vs State of Kerala
iii) Champakam dorairajan vs State of madras
iv) minerva mills ltd. vs Government of India
A) i, ii, iii, iv B) iv, ii, i, iii C) ii, i, iv, iii d) iii, i, ii, iv

28. Name the system under which the peasant himself owns the land and is responsible 
for payment of land revenue to the government.
A) dahsala System   B) Zamindari System 
C) mahalwari System   d) Ryotwari System

29. Consider the following statements about Panchayath Raj and mark which of the 
statement is incorrect ? 
A) 1/3 seats are reserved for women at all levels of the Panchayath Raj system.
B) Panchayath Raj is associated with 12th Schedule of the Constitution.
C) It is under the supervision of Grama Sabha that Grama Panchayath works.
D) Rajasthan was the first state to implement the Panchayath Raj system in India.

30. Which of the following Articles of the Indian Constitution states that “It shall be the 
duty of the Union to protect every State against external aggression and internal 
disturbances” ?
A) Article 325 B) Article 354 C) Article 353 d) Article 355

31. Which instruments are used in Padayani ?
A) Thappu and Chenda   B) mridangam and Thappu
C) Kuzhal and Chenda   d) mizhavu and maddalam



 047/23 – M

a -9- 

23. v]vqLvWLw	j]poU	(RTI) j]sv]¤	vÐ	v¡xU. 
A) 2000 B) 2004 C) 2006 d) 2005

24. ""ojOx|LvWLw°tOU	ojOx|f~qz]f	RfãOWtOU''	IÐ	kOñW¾]R£	q\p]fLvV	BqLeV	 ?
A) DSkNÎ	mLWõ]   B) AÆO SyLe]
C) v]. B¡. WQxVe Aá¡ d) RNkLl. B¡. k]. qoe¢

25. Ex]	yOj¨]jV	oOÒV	BqLp]qOÐO	pO.RW.	pORa	NkiLjoNÍ] ?
A) s]yV NayV  B) SmLr]yV S^L¦y¦
C) RcLo]j]WV	rLmV	 d) yOsæ NmLv¡oL¢

26. 1946-Rs	nqeZajL	AyUmæ]pORa	BRW	AUYyUX|	INfpLp]qOÐO ?
A) 389 B) 292 C) 289 d) 299

27. oTs]WLvWLw°tORapOU	j]¡SÇw	ff~°tORapOU	SWyOWtORa	wq]pLp	WLsNWoU	
JfLeV ?

i) SYLsWV	jLgV	vs SðãV	KLlV	kµLmV
ii) SWwvLjÎ	nLqf] vs SWqt	yUòLjU
iii) \ÒWU RhLRRqqL^¢ vs SðãV	KLlV	oNhLyV
iv) o]Sj¡v	o]¤yV	s]o]ãcV vs CÍ|L	Yv¦Ro£V
A) i, ii, iii, iv B) iv, ii, i, iii C) ii, i, iv, iii d) iii, i, ii, iv

28. W¡xWjV	fRÐ	nPo]pORa	DaoòLvWLwU	DçfOU	nPo]pORa	vqOoLjU	(j]WOf])
y¡¨Lq]Ss¨V	AaàLjOç	D¾qvLh]¾oOçfOoLp	yUv]iLj¾]R£	SkqV.
A) hzVyLs yNÒhLpU  B) ^o}ÎLq]	yNÒhLpU 
C) oz¤vLq]	yNÒhLpU  d) rSpLf~Lq] yNÒhLpU

29. kµLp¾V	qL^]Rj¨Or]\ÿOç	fLRuÕrpOÐ	NkñLvjW¥	kq]Ye]¨OW.	Af]¤	
JfLeV	RfRãÐV	AapLtRÕaO¾OW	? 
A) kµLp¾V	qL^V	yUv]iLj	NkWLqU	1/3 y}ãOW¥	IsæL fs°t]sOU	Nñ}W¥¨Lp]	
yUvqeU	R\pÅ]ŸOºV.

B) kµLp¾V	qL^V	nqeZajpORa 12 -LU	Rxc|PtOoLp]	mÌRÕŸ]q]¨OÐO.
C) NYLoynpORa	So¤SjLŸ¾]sLeV	NYLokµLp¾V	Nkv¡¾]¨OÐfV.
d) CÍ|p]¤	Bh|oLp]	kµLp¾V	qL^V	yUv]iLjU	jaÕ]sL¨]p	yUòLjoLeV		 	

qL^òL¢.

30.  “mLz|	BNWoe°t]¤	j]ÐOU	Bn|Íq	Ay~òfWt]¤	j]ÐOU	IsæL	yUòLj°RtpOU	
yUqƒ]¨OW	IÐfV	pPe]pR£	WaopLeV	”IÐV	CÍ|¢	nqeZajp]Rs	fLRuÕrpOÐ	
B¡Ÿ]¨]tOWt]¤	JfLeV ?
A) B¡Ÿ]¨]¥ 325 B) B¡Ÿ]¨]¥ 354 C) B¡Ÿ]¨]¥ 353 d) B¡Ÿ]¨]¥ 355

31. kape]p]¤	DkSpLY]¨OÐ	vLh|°¥	JfLeV	?
A) fÕOU	R\ºpOU  B) oQhUYvOU fÕOvOU
C) WOusOU	R\ºpOU  d) o]uLvOU oÇtvOU
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32. Who is known as the ‘Kerala Chaucer’ ? 
A) Ezhuthachan B) Cherussery C) Cheeramakavi d) Rama Panikker

33. Which country hosted the Winter Olympics 2022 ?
A) Italy B) Canada C) Japan d) China

34. American Cup is given for which particular sports ?
A) Tennis (Women) B) Bridge C) Badminton d) yacht Racing

35. What is the National game of Bangladesh ?
A) Cricket B) Pato C) Rugby d) Kabaddi

36. Chettikulangara Bharani is associated with a Bhagavathy temple in which  
district ?
A) Idukki B) Ernakulam C) Alappuzha d) Kozhikode

37. Who is the first Chairman of Kerala Folklore Academy ? 
A) Raghavan Payyanad   B) Bhargavan Pillai
C) C. J. Kuttappan   d) Keecheri Raghavan

38. The Olympics in which P.T. Usha lost the Bronze medal by a narrow margin ? 
A) moscow   B) los Angeles C) Barcelona d) Sydney

39. Which of the following has announced Herbalife as its official partner for  
Tata IPl 2023 ?
A) ICC B) dRdO C) BCCI d) IOC

40. In which city will Prime minister Narendra modi attend the Joint Commander’s 
Conference – 2023 ?
A) Bhopal B) Indore C) Bangalore d) Pune

41. Which of the following statements is/are false ?
i) Hub operates on data link layer while switch operates on physical layer.
ii) Hub is broadcast type transmission.
iii) Router operates on network layer.
A) (i) only B) (i) and (ii) C) (i), (ii) and (iii) d) (ii) and (iii)

42. Which of the following statement is/are true ?
i) digitizer is an input device.
ii) Plotter is an output device.
iii) Joystick is not an input device.
A) (i) only B) (i) and (ii) C) (i), (ii) and (iii) d) (ii) and (iii)
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32. ‘SWqtL S\Ly¡ ’ IÐr]pRÕaOÐfV	BqLeV	? 
A) IuO¾±¢ B) R\rOSêq] C) \}qoWv] d) qLoÕe]¨¡

33. 2022 v]£¡	Kt]Ò]Wõ]jV	Bf]Sgpf~U	vz]\ÿ	qL^|U.
A) Cãs] B) WLjc C) ^ÕL¢ d) RR\j

34. JfV	NkSf|W	WLp]W	Cj¾]jLeV	ASoq]¨¢	WÕV	j¤WOÐfV ?
A) RaÐ}yV (Nñ}W¥) B) Nm]cV^V C) mLcVo]£¦ d) pL\ÿV	Sry]UYV

35. mUYæLShw]R£ Shw}p RYp]U JfLeV ?
A) NW]¨ãV B) kLSãL C) rYVm] d) Wmc]

36. R\Ÿ]WOt°q	nqe]	JfV	^]sæp]Rs	KqO	nYvf]	SƒNfvOoLp]	mÌRÕŸ]q]¨OÐO ?
A) CaO¨] B) IreLWOtU C) BsÕOu d) SWLu]S¨LaV

37. SWqt SlLSWæL¡ A¨Lho]pORa Bh| R\p¡oL¢. 
A) qLZv¢	kájLaV   B) nL¡Yv¢	k]ç
C) y]. R^. WOŸÕ¢  d) W}S\ÿq]	qLZv¢

38. k].	a].	DxàV	Sjq]p	v|f|Ly¾]¤	RvËs	Roc¤	jìRÕŸ Kt]Ò]WõV ? 
A) SoLSØL   B) SsLyV	Jµ¤yV C) mLuVySsLe d) y]cVj]

39. aLãL	RI.	k].	I¤.	2023 R£	KTSh|LY]W	kËLt]pLp]	fLRuÕrpOÐvp]¤	JfLeV	
Rz¡mRRsl]Rj	NkX|Lk]\ÿfV ?
A) ICC B) dRdO C) BCCI d) IOC

40. S^Lp]£V WoL¢ScuVyV SWL¦lr¢yV – 2023-¤	NkiLjoNÍ]	jSqNÎSoLh]	JfV	jYq¾]¤	
kRËaO¨OU ?
A) SnLÕL¤ B) C¢ScL¡ C) mLUYæP¡ d) kPRj

41. fLRuÕrpOÐ	NkñLvjWt]¤	JfV/JRfLR¨pLeV	RfãV	?
i) y~]\ÿV	l]y]¨¤	Rspr]¤	Nkv¡¾]¨OSÒL¥	zmV	cLã	s]ËV	Rspr]¤	Nkv¡¾]¨OÐO.
ii) zmV SNmLcVWLðV RRaÕV NaL¢yVo]x¢ BeV.
iii) rPŸ¡	RjãVv¡¨V	Rspr]sLeV	Nkv¡¾]¨OÐfV.
A) (i) oLNfU B) (i) and (ii) C) (i), (ii) and (iii) d) (ii) and (iii)

42. fLRuÕrpOÐ	NkñLvjWt]¤	JfV/JRfLR¨pLeV	wq] ?
i) c]^]RRãy¡	KqO	C¢kOŸV	DkWqeoLeV.
ii) SkæLŸ¡ KqO KTŸVkOŸV DkWqeoLeV.
iii) S^Lp]ð]¨V	KqO	C¢kOŸV	DkWqeosæ.
A) (i) oLNfU B) (i) and (ii) C) (i), (ii) and (iii) d) (ii) and (iii)
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43. Which of the following is not associated with Virtual memory ?

A) Swapping   B) Spooling

C) demand paging   d) None of the above

44.  Which of the following statements about Ransomware are correct ?

i) Ransomware is a virus which replicate itself.

ii) Kind of cyber crime where the attacker gains access to the computer and blocks the  
user from accessing, usually by encrypting the data.

iii) The attacker blackmails the victim to pay for getting access to the data.

A) (i) only B) (i) and (ii) C) (i), (ii) and (iii) d) None of these

45.  Ubuntu 20.04 lTS is known as 

A) Jammy Jellyfish   B) Kinetic Kudu 

C) Focal Fossa   d) Bionic Beaver

46. Which of the following statements regarding Satellites launched by ISRO is/are 
correct ?
1) CmS-01 is a Communication Satellite.
2) GAST-6A is a Earth Observation Satellite.
3) mission EOS-03 was Unsuccessful.
4) INS-1C is a Navigation Satellite.

A) Only 1 B) Only 2 C) Only 1 and 3 d) Only 2 and 4

47. Which of the following Statements about dRdO is/are correct ?

1) dRdO was formed in 1959.

2) INSAS weapons are designed by dRdO.

3) dRdO is under department of Space.

4) dRdO is headquartered in Bangalore.

A) Only 1 B) Only 4 C) Only 2 d) All the above

48. Which of the following disease can be diagnosed with Widal test ? 

A) AIdS B) Cancer C) Typhoid d) Ascariasis

49. Which of the following Environmental movements in India is related to 
“Hug the trees” ? 

A) Narmadha Bachao Andholan B) Jungle Bachao Andholan

C) Appiko movement   d) Chipko movement

50. Which city hosted 108th Indian Science Congress ? 

A) mumbai B) Jalandhar C) Kolkatta d) Nagpur
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43. fLRuÕrpOÐvp]¤	Rv¡\~¤	RoÚr]pOoLp]	mÌo]sæL¾fV	JfLeV ?
A) y~LÕ]UYV   B) yVkPt]UYV
C) c]oL¢cV Sk^]UYV  d) oOWt]¤	kr´v	KÐOosæ

44.  rL¢yURvpr]Rj¨Or]\ÿOç	fLRuÕrpOÐ	NkñLvjWt]¤	JfLeV	wq] ?
i) rL¢yURvp¡	IÐfV	y~pU	Bv¡¾]¨OÐ	KqO	RRvryLeV.
ii) yLiLqepLp]	cLã	I¢NW]kVãV	R\áOÐf]sPRa	BNWoeWLq]	WÒ|PŸr]Ss¨V	
BWõyV	SjaOWpOU	DkSpL©Lv]Rj	BWõyV	R\áOÐf]¤	j]ÐV	fapOWpOU	 
R\áOÐ	fq¾]sOç	RRym¡	WOãWQf|U.

iii) cLãp]Ss V̈	BWõyV	sn]¨OÐf]jV	keU	j¤WL¢	BNWoeWLq]	CqRp	mæL V̈	Rop]¤	
R\áOÐO.

A) (i) oLNfU B) (i) and (ii) C) (i), (ii) and (iii) d) CvRpLÐOosæ

45.  DmOºO 20.04 lTS ____________	IÐLeV	Ar]pRÕaOÐfV. 
A) ^LÚ]	R^sæ]l]xV  B) RRWjã]WV	WOcO 
C) SlL¨¤	SlLy	 	 	 d) mSpLe]WV m}v¡

46. ISRO v]Sƒk]\ÿ	DkNYz°Rt	yUmÌ]\ÿ	Cj]ÕrpOÐ	NkñLvjWt]¤	JfV/
JRfLR¨pLeV wq] ?
1) CmS-01 KqO	Bwpv]j]op	DkNYzoLeV.
2) GAST-6A KqO	nPj]q}ƒe	DkNYzoLeV.
3) o]x¢ EOS-03 v]^p]\ÿ]sæ.
4) INS-1C KqO	jLv]SYx¢	DkNYzoLeV.
A) 1 oLNfU B) 2 oLNfU C) 1 DU 3 DU oLNfU d) 2 DU 4 DU oLNfU

47. dRdO-Rp	WOr]\ÿOç	fLRuÕrpOÐ	NkñLvjWt]¤	JfV/JRfLR¨pLeV	wq]	?
1) dRdO 1959 ¤	qPk}Wq]\ÿO.
2) INSAS BpOi°¥	qPkW¤Õj	R\pÅ]q]¨OÐfV dRdO BeV.
3) dRdO mz]qLWLw	vWOÕ]jV	W}u]sLeV.
4) dRdO pORa	BòLjU	mLUYæPq]sLeV.
A) 1 oLNfU  B) 4 oLNfU 
C) 2 oLNfU  d) oOWt]¤	kr´vRpsæLU

48. fLRuÕrpOÐvp]¤	JfV	SqLYoLeV	RRvcL¤	RaðV		DkSpLY]\ÿV	j]¡¹p]¨L¢	Wu]pOW ? 
A) IpVcVyV B) WL¢y¡ C) RRaSlLpVcV d) AyVWLq]y]yV

49. CÍ|p]Rs	fLRuÕrpOÐ	kLq]ò]f]W	 NkòLj°t]¤	JfLeV	“oq°Rt	Bs]UYjU
R\áOW” IÐfOoLp]	mÌRÕŸ]q]¨OÐfV ? 
A) j¡ÚhL	m\ÿLSvL	BSÎLt¢ B) ^UY]¥	m\ÿLSvL	BSÎLt¢
C) AÕ]S¨L	NkòLjU   d) \]kVVSWL	NkòLjU

50. 108-LofV	CÍ|¢	yp¢yV	SWL¦NYy]jV	Bf]Sgpf~U	vz]\ÿ	jYqU. 
A) oOURRm B) ^sÌ¡ C) RWL¤¨¾ d) jLYVkP¡
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51. What is the value of 
6.3 × 6.3 + 2 × 6.3 × 3.7 + 3.7 × 3.7 ? 

A) 10 B) 100 C) 6.76 d) 1

52. The decimal number equivalent to 
1
5

1
4

3
10

+ +  is 

A) 1.25 B) 0.25 C) 0.75 d) 0.5

53.  22
1
2

% of 400 is 

A) 90 B) 80 C) 100 d) 60

54. Simplify 
6 10 15
2 3 5

2 4 3

6 5 6

× ×
× ×

 

A) 2 B) 3 C) 4 d) 5

55. Find x, if 5 : 7 = x : 35 

A) 30 B) 45 C) 25 d) 40

56. If the simple interest for an amount of Rs. 10,000/- for 2 years is Rs. 2,400/-, what 
is the compound interest for 2 years for the same principal ?

A) 3,000 B) 2,544 C) 2,800 d) 2,500

57. Find the radius in cm of a sphere whose volume is 36π cm3.

A) 3 B) 6 C) 4 d) None of these

58. First term and last term of an arithmetic progression are 144 and 300, respectively 
and common ratio is 3. Find out the number of terms in this progression.

A) 53 B) 52 C) 54 d) 55

59. Average mark of 10 students in a group is 25. If one more student is joined in this 

group, the average changes to 24. What is the mark of the new student ?  

A) 24 B) 14 C) 18 d) 20

60. A man walks a distance of 600 m along a street in 5 minutes. Find his speed in Km/hr.
A) 6 B) 6.6 C) 7.2 d)  8

61. Fill in the blanks. 
3, 6, 11, 18, 27, _____ 

A) 38 B) 36 C) 35 d) 37
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51. 6.3 × 6.3 + 2 × 6.3 × 3.7 + 3.7 × 3.7 R£	oPs|U	IÍLeV	? 

A) 10 B) 100 C) 6.76 d) 1

52. 1
5

1
4

3
10

+ + jV		fOs|oLp	hwLUw	yUX|	___________ BeV.

A) 1.25 B) 0.25 C) 0.75 d) 0.5

53. 400 R£ 22
1
2

%  __________ BeV.

A) 90 B) 80 C) 100 d) 60

54.
6 10 15
2 3 5

2 4 3

6 5 6

× ×
× ×

sZPWq]¨OW.

A) 2 B) 3 C) 4 d) 5

55. 5 : 7 = x : 35 BReË]¤	x WRº¾OW.

A) 30 B) 45 C) 25 d) 40

56. 2 v¡xS¾¨Oç 10,000/- qPkàOç	st]foLp	ks]w 2,400/-, BReË]¤	ASf	

oPsij¾]jV	 2 v¡xR¾ WPŸOks]w INfpLeV ?

A) 3,000 B) 2,544 C) 2,800 d) 2,500

57. 36π cm3 SvLt|oOç	KqO	SYLt¾]R£	BqU	Ry£}o}ãr]¤	WRº¾OW.

A) 3 B) 6 C) 4 d) CvRpLÐOosæ

58. yoLÍqSèe]pORa	Bh|	khvOU	AvyLjkhvOU	pgLNWoU 144 DU 300 DU BeV, 
RkLfOvLp	AjOkLfU 3 BeV.	CT	Sèe]p]Rs	kh°tORa	I¹U	WRº¾OW. 

A) 53 B) 52 C) 54 d) 55

59. KqO NYPÕ]Rs 10 v]h|L¡À]WtORa wqLwq] oL¡¨V  25 BeV. CT	NYPÕ]¤	KqO	v]h|L¡À]	
WPa]	S\¡ÐL¤,	wqLwq]	24 Bp]	oLrOÐO. kOf]p v]h|L¡À]pORa oL¡¨V INfpLeV ?  

A) 24 B) 14 C) 18 d) 20

60. KqO	ojOx|¢ 600 o}ã¡	hPqU	RfqOv]sPRa 5 o]j]ã]jOç]¤	ja¨OÐO.	W].	o}./oe]¨Pr]¤	
AvR£	SvYf	WRº¾OW.	

A) 6 B) 6.6 C) 7.2 d) 8

61. v]ŸOSkLp nLYU kPq]Õ]¨OW.

3, 6, 11, 18, 27, _____ 

A) 38 B) 36 C) 35 d) 37
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62. If 2 + 3 = 8 ; 4 + 5 = 24 ; 1 + 8 = 9, then what is 3 + 6 ?

A) 12 B) 21 C) 20 d) 22

63. Find the odd one out.

i) 13 ii) 17 iii) 23 iv) 27

A) 13 B) 17 C) 23 d) 27

64. EARTH : FBSUI : : FRUIT : _______

A) GSVJS B) GQVJU C) GSVJU d) GSVKU

65. A is B’s sister. C is B’s father. d is C’s mother. Then how is A related to d ?

A) daughter   B) Granddaughter 

C) Father   d) Grandfather 

66. Akhil walks 25 km towards East and turns to right hand side and takes a drive of  

8 km. He then turning to his right, travels another 10 km. Again he turns to his left 

and walks 6 km. After that he turns to his right and travels 15 km. How far is he from 

his initial position and in which direction ? 

A) 20 km West   B) 16 km North

C) 14 km South   d) None of the above

67. What is the angle between the hour hand and minute hand at 12 : 10 ?

A) 50° B) 55° C) 60° d) 65°

68. 3rd November 1994 falls on Thursday. What was the day of 20th march 1995 ?

A) Friday  B) Saturday C) Sunday d) monday 

69. Find the mirror image of the word mACHINE. 

A) ENIHCAm  B) ENIH  Am

C

C) NEIH  Am

C

   d) E  IHCAmN  

70. looking into a mirror, the clock shows 12 : 15 as the time.

The correct time is

A) 11 : 45 B) 11 : 15 C) 12 : 45 d) 12 : 15
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62. 2 + 3 = 8 ; 4 + 5 = 24 ; 1 + 8 = 9 BReË]¤	3 + 6 INf ?

A) 12 B) 21 C) 20 d) 22

63. KãRÕŸfV	WRº¾OW.

i) 13 ii) 17 iii) 23 iv) 27

A) 13 B) 17 C) 23 d) 27

64. EARTH : FBSUI : : FRUIT : _______

A) GSVJS B) GQVJU C) GSVJU d) GSVKU

65. A, B pORa ySzLhq]pLeV. B pORa k]fLvLeV C. C pORa	AÚpLeV	d. IË]¤	

I°RjpLeV A, d pOoLp]	mÌRÕŸ]q]¨OÐfV ?

A) oW¥   B) RWL\ÿOoW¥ 

C) A±¢   d) oO¾±¢ 

66. AX]¤	W]uS¨LŸV  25 W]SsLo}ã¡	jaÐV	vsfOvwS¾ V̈	f]q] V́ 8 W]SsLo}ã¡	RRNcvV	

R\áOÐO. k]Ð}aV	vsfOvwS¾¨V	f]q]´V 10 W]SsLo}ã¡	WPa] yµq]¨OÐO.	  

v}ºOU	Av¢	CafOvwS¾¨V	f]q]´V 6 W]SsLo}ã¡	ja¨OÐO.	Af]jOSwxU	Av¢	

vsS¾LŸV	f]q]´V 15 W]SsLo}ã¡		yµq]\ÿO.	IË]¤	Av¢	fR£	 NkLqUn	òLj¾V	 

j]ÐV	INf	AWRspLeV,	JfV	h]wp]sLeV	? 

A) 20 W].o}.	ka]´LrV   B) 16 W].o}. va¨V

C) 14 W].o}. Rf¨V  d) oOWt]¤	RWLaO¾]q]¨OÐf]¤	KÐOosæ

67. 12 : 10 jV	oe]¨P¡	yP\]¨OU	o]j]ãV	yP\]¨OU	Cap]sOç	SWL¦	IÍLeV	?

A) 50° B) 55° C) 60° d) 65°

68. 1994 jvUm¡ 3 v|LuLuV\pLeV. 1995 oL¡\ÿV 20 JfV	h]vyU	Bp]qOÐO	?

A) Rvç]pLuV\  B) wj]pLuV\ C) `LprLuV\ d) f]ËLtLuV\ 

69. mACHINE IÐ	vL¨]R£	o]r¡	CSo^V	WRº¾OW.

A) ENIHCAm  B) ENIH  Am

C

C) NEIH  Am

C

   d) E  IHCAmN

70. W¹La]p]¤	SjL¨OSÒL¥	SWæL¨V	yopU 12 : 15 WLe]¨OÐO.	wq]pLp	yopU		

__________ BeV. 

A) 11 : 45 B) 11 : 15 C) 12 : 45 d) 12 : 15
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71. Choose the most appropriate synonym for the underlined word.

I am ready to concede that the decision was a wrong one.

A) Propose B) Agree C) Support d) Refuse 

72. Fill in the blanks with the correct option.

He saw _____ SI of police sitting under _____ eucalyptus tree. 

A) the, an B) a, a  C) an, an  d) an, a

73. Identify the correct sentence.

A) I read the book yesterday.

B) I have read the book yesterday.

C) I has read the book yesterday.

d) I would read the book yesterday.

74. let us go to the beach, ___________ ? 

A) can we B) shan’t we C) shall we d) can’t we

75. Identify the correct plural form of ‘commander-in-chief’. 

A) commanders-in-chief   B) commander-in-chiefs  

C) commanders-in-chiefs  d) commander-in-chieves

76. Complete the sentence with the correct conditional clause.

If I had gone to New delhi, ____

A) I could see the Qutub minar

B) I could have seen the Qutub minar

C) I saw the Qutub minar

d) I might see the Qutub minar

77. Fill in the blanks with the correct option.

A new mobile tower ________ next month. 

A) is been installed    B) is be installed 

C) is being installed    d) is installed 
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78. Fill in the blanks with the most appropriate option.

I ______ you to a duel.  

A) dare     B) must  

C) ought to   d) may

79. Fill in the blanks with the appropriate preposition.

I will see you ______ 9 O’ clock.

A) in B) on  C) for  d) at 

80. Choose the correct indirect form of the given sentence.

“don’t go near the beach, Alan”, the mother said. 

A) The mother told Alan don’t go near the beach.

B) The mother told Alan you don’t go near the beach.  

C) The mother told him not to go near the beach.

d) The mother told Alan not to go near the beach. 

81. Fill in the blanks with the correct option.

Sunflower is ______ than Jasmine. 

A) more beautiful     B) beautifuller 

C) most beautiful    d) as beautiful 

82. Identify the segment of the sentence that contains a grammatical error.

If there is no error, mark ‘No Error’. 

Though Tom studied hardly (A) / throughout the night (B) / he could not pass the 

exam (C) / No error (d)

A) A  B) B  C) C  d) d 

83. Fill in the blanks with the correct option.

make sure that all arrangements are perfect prior ________ the inaugural 

function.

A) than  B) to C) then d) before 
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84. Select the most appropriate option to improve the underlined segment 

grammatically.

Either Anil or his friends has completed the painting.

A) have completed    B) have been completed  

C) has been completed    d) no improvement 

85. Select the most appropriate meaning for the given idiom.

 At sixes and sevens. 

A) angry   B) confused or difficult

C) in a hurry    d) surprised 

86. Select the alternative which is the best substitute for the given phrase.

A person appointed to settle a dispute. 

A) auctioneer   B) argumentator

C) appellant   d) arbitrator

87. What is the full form of OTT ? 

A) Over – The – Table  B) On – The  – Top 

C) Over – The – Top  d) On – The – Television

88. Choose the correct option to fill the blank.

lakshmi is an _________ of our college.  

A) alumnus B) alumna C) alumnae d) alumni 

89. Complete the sentence with the correct option.

_______ the teacher, the students stopped talking.  

A) Saw  B) Sees  C) Seen  d) Seeing 

90. Choose the correct plural form of the word ‘stimulus’. 

A) stimuleses   B) stimulae

C) stimuli   d) stimulum
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91. oe¤	+	Aqe|U	–	S\¡R¾uOfOW.
A) oesLqe|U    B) oesqe|U
C) oeSsLqe|U  d) CvRpLÐOosæ

92. W]uS¨LSŸ¨V,	SoSsLSŸ¨V	fOa°]p	DhLzqe°t]¤	Bv¡¾j	wmÉU	JfV	?	
A) KLŸV   B) ¨V 
C) IpV¨V   d) W]u¨V

93. SvhvLW|U	IÐ	RRws]RWLºV	A¡ÀoL¨OÐRfÍV	?
A) Svh¾]Rs vLW|U   B) v]wOÈoLp	vLW|U 
C) AsUZj}poLp	An]NkLpU d) CvRpLÐOosæ

94. fLRuÕrpOÐvp]¤	KLt¾]R£	kq|LposæL¾fV.
 A) nUYU B) fqUYU C) v}\] d) BtU

95. wq]pLp	khU	f]q]\ÿr]pOW.	
A) AyVfopU  B) AyVfojU 
C) AyVfoLjU   d) AyVfLopU

96. y~^}v]f¾]¤	A\ÿa¨U	kLs]¨L¾	Ai|LkW¡	WOŸ]WStLaV	A\ÿa¨R¾¨Or]\ÿO	
NkyUY]¨OÐfV	____________ 
A) v]SqLiLnLyoLeV   B) RRvqOÈ|oLeV 
C) v]SqLioLeV   d) v]qOÈoLeV

97. oq°¥	–	k]q]R\ÿuOfOW.
A) oqU	+	W¥   B) oq	+	W¥
C) oqoV	+	°¥  d) oq°V	+	A¥

98. vŸU	+	ksW	
A) vŸÕsW  B) vŸLÕsW 
C) vŸLÒsW  d) CvRpLÐOosæ

99. WO´O°¥	IÐ	kh¾]Rs v\jNkf|pU.	
A) D¢ B) W¥ C) D d) CvRpLÐOosæ

100. wq]pLp	vLW|U	WRº¾OW.
A) vqjOU	viOvOU	fÚ]¤	oLsp]ŸO. 
B) vqjOU	viOvOU	ASj|Lj|U	v]vLz]fqLp].
C) vqjOU	viOvOU	fÚ]¤	v]vLz]fqLp].

d) vqjOU	viOvOU	ASj|Lj|U	fÚ]¤	v]vLz]fqLp].	
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S\Lh|°tORa BRW I¹U : 100 yopU : 75 o]j]ŸV 

  kqoLvi] oL¡¨V  : 100

S\Lh|kOñW AƒqSWLcV
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         DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

1. S\Lh|		WasLôV	j¤WOÐfV	S\Lh|	kOñW	qPk¾]sLeV.	a, B, c, d IÐ}	jLsV	Aƒq	SWLcOWt]sOç	
S\Lh|	kOñW°tLeV	j¤WOÐfV.

2. S\Lh|	kOñW¾]R£	oOWt]¤	CafV	vw¾V	NkSf|W	SWLt¾]¤	S\Lh|kOñW	Aƒq	SWLcV	Aˆa]̂ ]ŸOºV.

3. KLSqL	DSh|LYL¡À]¨OU	j¤W]p]ŸOç	S\Lh|kOñW	Aƒq	SWLcV	AvqORa	kq}ƒL	zLt]Rs	Cq]Õ]
a¾]¤	SqXRÕaO¾]p]q]¨OU.

4. j]°¥¨jOvh]ˆ]q]¨OÐ	Aƒq	 SWLc]¤	j]ÐOU	v|f|ñoLp	 SWLc]sOç	 S\Lh|kOñWoLeV	
sn]¨OÐRfË]¤	AfV	Daja]	C¢v]^]SsãrORa	èÈp]¤RÕaOS¾ºfLeV.

5. S\Lh|kOñW	 NWojÒ¡	kOrU	\ŸpORa	vsfOvw¾V	oOWtã¾Lp]	S\¡¾]ŸOºV.	 NWojÒ¡	CŠL¾	 
S\Lh|kOñWoLeV	j]°¥ V̈	sn]¨OÐRfË]¤	ASf	Aƒq	SWLc]sOç	S\Lh|kOñWU	oLã]	vL°OW.

6. S\Lh|	kOñWU	vsfO	oL¡^]j]¤	oÈ|nLY¾Lp]	y}¤	R\pÅ]q]¨OU.	D¾qRouOfLjOç	AjOof]	 	  
sn]ˆLsŠLRf	S\Lh|	kOñWU	fOr¨L¢	kLa]Š.

7. kq}ƒ	fOa°]pLsOa¢	DSh|LYL¡À]	fj] V̈	sn]ˆ]q]¨OÐ	S\Lh|	kOñW¾]¤	100 	S\Lh|°tOU	NWooLp]	
DSºL	IÐV	kq]SwLi]S¨ºfLeV.	S\Lh|	kOñW¾]¤	Aˆa]¨L¾SfL,	W}r]pSfL,	v]ŸOSkLpSfL	
Bp	Sk^OW¥	DºLW]Š;	AgvL	DRºË]¤	A¨Lq|U	C¢v]^]SsãrORa	èÈp]¤	RWLºOvq]WpOU	
ASf	Aƒq	SWLc]sOç	kP¡¹oLp	S\Lh|	kOñWU	oLã]	vL°OWpOU	R\SáºfLeV.	CfV	JãvOU	
NkiLjRÕŸfLeV.

8. CT S\Lh|SkÕr]Rs 1 oOf¤ 70 vRqpOç S\Lh|°¥ CUYæ}x]sOU KTSh|LY]W nLxp]sOU (ospLtU)
Bp] A\ÿa]\ÿ]q]¨OÐO. CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV 
oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV.

9. S\Lh|	kOñW¾]R£	AvyLj	Sk^]jO	RfLŸOoO¢kV	KÐOU	IuOfL¾	qºV	Sk^OW¥	S\¡¾]ŸOºV.	CfV	
D¾qU	WºOk]a]¨OÐf]jOç		WOr]ÕOW¥¨Lp]	DkSpLY]¨LvOÐfLeV.

10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

11. wq]pO¾qU	D¥RÕRa	KLSqL	S\Lh|¾]jOU	(A), (B), (C), (D) IÐ	jLsV	D¾q°¥	fÐ]q]¨OU.	wq]
pO¾qU	RfqR´aO¾V	K.	IU.	B¡.	D¾q¨asLy]¤	mÌRÕŸ	S\Lh|	jÒr]jV	SjRqpOç	wq]pO¾qU	
yP\]Õ]¨OÐ	WOo]t	(mm]¥)	oLNfU	j}sSpL	WrOSÕL	mL¥	SkLp]£V	Skj	DkSpLY]ˆV	WrOÕ]¨OW.

12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
 R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

13. kq}ƒL	yopU	Wu]pOÐf]jV	oOSÒL,	D¾q¨asLyV	C¢v]̂ ]SsãRr	J¤Õ]̈ LRfSpL	KqO	DSh|LYL¡À]pOU	
kq}ƒLzL¥	v]ŸV	kOr¾OSkLWL¢	kLa]Š.

14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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